EARAROBEEIERT — 2 N— IBISH —F

20165 1A318 (B) 2E=#R2H

m"fﬁ%Sﬁ KEEF 4t [IBF] B ‘ [Xiz] % ‘ [eErsm] — | & (%) 18000 &
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
[fE] F # :53. -1-1- . . MAE (EXR)
1 4 hey—JLT w7l % 3 e i 1(5_3)3 1-1-1-1 | 37.6| 85.2 | 10 (5_088) ) A e i
R:TLYFFEaT 1 BSTURIXATIXY HET7— L
S i 3 | JIBfE= 1:53.7 5-4-3-3 | 37.6| 81.5 | 8 464 | EXE (FR)
oWy T/ A > 8 54.0 @ 1/2) L) | W) /=Zerz
LIV T A—h— B:T74—2 Rtk e
o= N JI| A HE : —6-5- SHRM (EXR)
3l5l9| 7LTTLETLR i 3 e 1(/53;)7 6-6-5-5 |37.5| 81.5 | 1 <4+622) pEEn
Z:707% BTTLAY 4 RIN— J=HrTp—L
. -\ = - S. TA—1— : -8-8- WkEE (ER)
al1lo|T-nFr5175 4 3 S # (11513/29) 8-8-8-8 |37.3| 79.7 | 14 (4:342) éﬁml&
R:N—=YT754 BIE-VIT147T BB
— 5 4 3 | ESEE 1:54.1 2-2-2-2 |38.3| 78.0 | 3 488 | AAREH#Z (ER)
EE 6|7 IRA=>Y 54.0 (1 1/4) o) |FIFXA
L:hxexy B:vXa—-vA> [E]skaec
AR 4t 3 | AHEEE 1:54.1 15-15-16-13| 36.6 | 77.9 | 9 456 | IEILTSH (5ER)
617114 JIXZEY 21— 54.0 (NF) (g |BNIE
RIS INATA—H— BYIRELEoH— YIREL Ty —L
v B3 | AKX 1:54.2 12-12-9-9 | 37.5| 77.0 | 11 400 | AR (FR)
71111 X A= 54.0 (1/2) (-2) X:757J (%)
RO—VXA LA YL HLFITY FE AR
N 4 3 | EHR 1:54.2 14-13-10-10| 37.2 | 77.0 | 5 468 | HHEZ (ER)
8 12 I737 54.0 (742%) (c4) |H- H. Yzd7 - FNLF
R:F4—TAHA B:bh=0>39 H—L— - JvX> - T7—LARS
o= HFEMER :54. -4-6- . . BEEM (BH)
9 3| Ko5E7 it 3 2 1(/;545)3 4-4-6-5 |38.0| 76.2 | 13 z:g;) ket
v NnNyarhT7r BiLyIALA/ R (B) A -FRL—-ya>aEI7r
A S 4 3 | EHEES 1:54.5 6-6-6-7 |38.1| 74.4 | 6 450 | BETEE (BR)
10 8 TFHATG 54.0 (1 1/2) (-2) B v>7—L—-—>>7
R g NT—IEY Bi=51hFA BAT 7 — L
: N 4 3 | MEABEZ 1:54.8 3-3-3-3 [38.8| 72.1 | 15 | 482 |fAREIEHM (3X)
1713 YNV —F—> 54.0 @ o | 8 eT-mus
L:dyp—=3U7> B:A—-U3>)b—LA N> T -G
S 4t 3 | HAILEAE 1:55.0 13-14-14-11| 37.8 | 69.7 | 7 450 | AU (3ER)
EH 5 Yy NAHA 54.0 (1 1/4) (-6) () 7#—L Xk
ZonNd BixFINT4T 7975 TT—L4
I 3 | K& 1:56.2 10-10-10-11{ 39.2 | 60.5 | 4 46 | SHE— (BEH)
13/5]10| TT>>1~3aAYF 54.0 @) o) | ) e
LIAYCFE2T BIAY NvE— FAERS
- 43 | AVHEGR 1:56.4 10-10-13-15| 39.0 | 58.6 | 16 | 472 | BE#&#H (EX)
14/8|16| 7Y E=— 54.0 (1 1/2) o) | @) £5H-TY-—F-2-1=%
L:hVX2T71v7 B:NYEZ— EdHhITT— L
SO — ft 3 | Rt 1:56.5 8-8-12-16 | 39.3 | 58.1 | 12 | 438 |EREhsE (FH)
15/8|15| ¥ —NH=% 753.0 1) o) | 0 7557
XL ThANAN BN=2 0T I— K HiE
. . = M. FL—0O . —15-14— AEENT (ER)
16 S FELFXLT 4 3 [ (13517/21) 16-15-14-13| 39.6 | 53.5 | 2 (:?2) iﬁiﬁ%
R:7—TTr—R BALF4ITNY J =% Ty — I
@ 71 L
) 50.0-37.6
NA>Z24 L | 12.3-11.8-13.1-13.2-12.9-12.4-12.1-12.4-13 .1
® I —F—@EBIERL
13=3r= (x4,6)13,3,11(8,9) (2,15) (10,16)1,5,12-14,7
20—+ — (x4,6)13(3,11) (8,9) (2,15) (10,16)1,12,5-(7,14)
Gol=5r= (x4,6) (13,11)9(3,8)2,1(10,12)15,16(5,7) 14
40—+ — 4,6-(13,11) (3,9)8,2,1,12-(5,10) (14,7)16,15
[ N3
B O 4 6,460 714K 4-11 9,900/ 7 E 2-6 14,950 RPEL ) 4-9-11 23,040/
BB 4 920 4-9 1,620M B = 4-11 51,020M 3EE 4-11-9 422,730M
1" 380H 9-11 820M B H 4-11 146,290/
9 110

ABICOVWTRDTEEERROODE. TR LIV,




